Enrollment No: Exam Seat No:

C. U. SHAH UNIVERSITY

Winter Examination-2019

Subject Name: Functional English

Subject Code: 2TE02FEN2 Branch: Diploma (All)
Semester: 2 Date: 09/09/2019 Time : 02:30 To 05:30 Marks : 70

Instructions:
(1) Use of Programmable calculator & any other electronic instrument is prohibited.
(2) Instructions written on main answer book are strictly to be obeyed.
(3) Draw neat diagrams and figures (if necessary) at right places.
(4) Assume suitable data if needed.

Choose the most appropriate options from the given and write answer in complete sentence. (14)
a) Each of the suspected men arrested.
A Has B Have C had D was
b) Man's happiness or misery in a great measure in his own hands.
A Am B are C is D have
c) Neither his father nor his mother alive.
A Am B Is C Are D have
d) One or the other of those fellows stolen the watch.
A Has B Have C Was D were
e) Acalendaris___ the wall.
A On B In C Under D above
f)  Anold feud existed the two families.
A by B Between C Among D beside
g) Can you see the helicopter the palace?
A Below B Under C above D between
h) Cowsare ___the tree.
A On B In C between D under
i)  Don’t be late school.
A for B On C In D with
i) The cow as well as the horse grass.
A Eat B Eats C Eating D None of these
k) 1 commenced my work 1st May.
A At B In C from D None of these
I) Isthere arefrigerator __the kitchen?
A above B before C behind D inside
m) One of my little brothers Dhoni, the star wicket keeper of India.
A imitates B imitating C imitate D None of these
n)  No news good news.
A Am B is C Are D have
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Attempt any four questions from Q-2 to Q-8

Q-2

Q-3

Q-5

Attempt all questions

A Use coordinating conjunctions for the following sentence and rewrite them.
(For, And, Nor, But, Or, Yet, So)
1. They were poor, often suffered great hardship.
2. He overslept himself thus missed the train.
3. That coat cannot be mine it is too big for me.
4. As aboy he had never been to school, he had no opportunity Of learning. to read and
write.
This must not happen again, you will be dismissed.
He is rich, he is not happy.
Hurry up, else you will be late.

No g

B Use proper forms of causal verbs in the blanks for the given sentence: (get, make, have)

1. Amy her students do homework every night.

2. He ___ hiswashing machine fixed.

3. lcan't them stopped watching this film. It is interesting for them.
4. I'll be my hair cut tomorrow.

5. Julia her staff take responsibility for their own doing.

6. Philip his friends choose their own essay topics.

7. The students were their essays checked.

A Change the degree of the given sentences as demanded:
1. London is the richest city in the world. (SD) > (PD)
Madhuri is the best singer in the class. (SD) > (PD)
Alice is as tall as Peter. (PD) > (CD)
My uncle is richer than my father. (CD) >(PD)
America is richer than most other countries in the world. (CD) > (SD)
Dickens is more popular than most other English novelists. (CD) > (PD)
She is prettier than her sister. (CD) > (PD)

No gk~wbd

turn the given sentence into indirect speech
1. The girl said, ‘It gives me great pleasure to be here this evening.’
The man said, ‘I must go as soon as possible.’
She said, ‘I don’t want to see any of you; go away.’
The teacher says, ‘If you work hard, you will pass.’
He said, ‘I have won.’
He said, ‘Let’s wait for her return.’

No g krwd

Alia said, ‘How clever I am!’

Attempt all questions

You are Deepak/Deepiika, the secretary of the Eco Club of your college which is celebrating ‘Tree

Plantation’ to create awareness regarding the importance of tree in our life. Draft a notice with
suggesting various activities including other essential details in not more than 100 words.
Answer the following questions:
1. Explain the words: concave and convex
How did the industrial safety rules favor the management?
In which language the books of college students are written?
To whom did the industrial safety rules favor before 19117
What are the different meanings of “hole”?
What does happen to comb after it has been used on dry hair?
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Q-7

Q-8

w >

7. Why do the science writers not prefer using the common words in books?

Attempt all questions
Explain Logos with an example.
Explain Ethos with an example.

Write detailed short notes on the give subjects
The Duties of a supervisor
Robotic Revolution
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